AT PowerThrotties Ltd

Nissan Skyline RB26 DBW upgrade installation guide

No. 3 throttle chamber

Q Throttle chamber gasket\ No. 2 throttle chamber Knock pin (6)

24 throttle chamber gasket

R

N W AU
}@ \ . G \{O)e3-83 || |

X
Nt (12) | _wesner (1) [Pomel  @p [f QRS (arat
18 - 21 Spring washer (12)~_ _ -~ o
7 ne-21, ~~ Jube 7 o
|L—12.15 ot (D63 Gl L GD
Point 9 - ~
L l (064-085, L e
46 - 6.1) /

AAC valve
[Point 6] —

Point 12 2T
Water tube rng;"H (\ >
S I T
\‘ N unit . | |/ \
. 1AA unit =7 )
A [Poirt 11? -Q .é:sket \ \ \J
\

1 Hose
|

. [Point 10]
Boit [CJ18 - 21 (1.6 - 2.1,
12 - 15) [Point 8]

\B It (4) [0163 8.2
0 .3 - 8.
Bolt [} 6.3 -8.3(0.64 - 0.85, 46 - 6.1) (0.64 - 0.84, 4.6 - 6.1)

| Bolt [C}16 - 21 (1.6 - 2.1, 12 - 15)

Remove all hoses from the intake
manifold. Remove the intake manifold and
throttles from the cylinder head. Remove
the collector assembly from the intake
manifold and remove the 3 link arms from
the 3 throttle chambers. Clean the faces of
the throttle chambers and the intake
manifold of any gasket material. On re-
build new throttle chamber gaskets will be
required (not supplied).

We reserve the right to make technical changes or modify the contents of this document without prior notice. With regards to purchase orders, the agreed particulars shall prevail. AT Power does

not acceptany responsibility whatsoever for potential errors or possible lack of information in this document.

RB26 Installation Guide Rev 1 October 22



AT PowerThrotties Ltd

€P ULIES

On throttle chamber 3,
remove the nut and
spring washer retaining
the spring assembly.

Apply some thread lock to
the TPS shaft supplied and
screw onto throttle
chamber 3.

M5 x 5 grub screw M4 x 12 screw with lock washer

On the other side of throttle
chamber 3, remove the
existing link arm and attach
the new link arm supplied
using the existing nut and
spring washer.

Slide on the TPS housing
And lock in position with
the Grub screw and M4
screw

On throttle chamber 2,

Remove the nut and spring washer
on both ends and remove the
spring assembly. The dowel
indicated must also be removed.
Between throttle chamber 3 and
throttle chamber 2, attach the
bracket with the link arm to the
DBW actuator.

On the other side of throttle
chamber 2, remove the
existing link arm and attach
the new link arm supplied
using the existing nut and
spring washer.

Remove dowel




AT PowerThrotties Ltd

é} ULIES

On throttle chamber 1, leave the
spring arrangement on the outside.
On the other side of throttle
chamber 1, remove the existing link
arm and attach the new link arm
supplied using the existing nut and
spring washer.

_‘ Between Throttle chamber1and2 &
» - 7y

- e

The throttle chambers
should now be ready to be
connected together

M5 washer
M5 washer
Spring
spacer

M5 x 30 screw

Using the parts supplied connect the throttle chambers as shown
Screw the screw into the rivet bush just enough to join the throttle
chambers




AT PowerThrotties Ltd

€P ULIES

Fit the first set of new gaskets and slide
on the 3 throttle chambers.
Push all 3 chambers against the head.

Start with throttle chamber 3 and 2, hold the throttle chamber 2 blade
closed and adjust the linkage until just before the throttle blade on
chamber 3 starts to move. Then hold the throttle blade shut in throttle
chamber 1 and adjust the linkage until just before the throttle blade in
chamber 2 starts to move. All 6 throttle blades should be in the fully
closed position and there should be no movement.

Connect the ball joint to the link arm on throttle chamber 2 .
and assemble the link arm as shown. A"ﬁlillliill]?lllillll o
Adjust the linkage to achieve approximately 96mm from '
centre of ball joint to centre of rod eye.




AT Power Throtties Ltd _

On the TPS housing mark the position of the throttle closed and throttle
fully open positions. Once the intake manifold is fitted, it will not be
possible to know the fully open position of the throttle blades.

The closed position stops on each throttle chamber should now be
adjusted if necessary.

)

Attach the DBW support bracket to
the main DBW bracket using M5 x 12
screws plus lock washers.

Use the DBW actuator to ensure the
gap is correct.

Then fit the main bracket to the
underside of the manifold.




AT Power Throttles Ltd _
. e (UL

Now fit the DBW actuator onto
the bracket using 3 x M5 x 10 and
1 x M4 x 10 plus washers on the
outside and 2 x M5 x 16 plus
washers on the inside.

Attach the second set of gaskets
and attach the intake manifold.
Re-use all the OEM nuts &
washers and tighten to
recommended torque.

Fully clockwise position.

Using an M4 x 10 screw connect the DBW lever boss to the actuator.
/y From the picture shown, ensure the actuator is rotated fully clockwise and

/'f/ > make sure the screw locates onto the flat on the actuator shaft.

Rotate the actor fully clockwise and mark the position. Now rotate the

actuator approximately 5 degrees to clear the actuator from the hard stop in

the actuators internal mechanism.

Fit the fully open stop screw and nut as shown.

Fully open stop
M5 x 20 and nut




AT PowerThrotties Ltd

€P ULIES

Attach the arm of the DBW lever to
the rod eye on the link arm using an
M5 x 16 screw and flat washer.
Attach the lever arm to the boss and
where there are 2 exposed tapped
holes. Fit 2 x M4 x 10 screws and
washers

Attach the TPS supplied

i using 2 x M4 screws and
flat washers.

The TPS should be
positioned to give

| approximately 0.5V in the
fully closed position

Rotate the DBW actuator
and open the throttles to
the fully open position
using the marks previously
located on the TPS
housing.

Adjust the fully open stop
screw and lock this
position with the nut.

The TPS and motor should now be connected to the aftermarket
ECU and the ECU calibrated for the correct fuel and air mix and idle
control.



